1. Given: TE;Z‘_E, AB = CD,
and B is the midpoint of £D
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Prove: AAEB = ACBD
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(Hint: Draw the information on the picture as you know it.)
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o reasons

. AE = CB, TE:FB 1. GI-AV“"
and B is the midpoint of £D
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OcCinibron 2 Midpoint

. AAEB = ACBD 5 205
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Given: AB L BE, DE 1 7;? AC = DT

and <BAC = <EDC

Prove: AABC = ADEC

statements
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. AB L BE, DE L BE, 4C = DC.,

and <BAC = <EDC
<B and <E are right angles
<B =<E

AABC = ADEC
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3, Given: GK = ML, <GKM = <LMK
Prove: AGKM = ALMK \
M y L
statements reasons
. GK = ML. <GKM = <LMK . Coiven
2 WK = WK 5. Rcblexive Prop
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. AGKM = ALMK
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Given: <S = <R and XT bisects <SXR
Prove: ASXT = ARXT

statements
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. <§=<Rand XT bisects <SXR

. <SXT = <RXT

XT = XT

. ASXT = ARXT
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Given: FT = FR and ST = SR

Prove: AFTS = AFRS

statements ; reasons
= FR and ST = SR 1. G".VM

2. 9 =Fs 2. Reflexive Property
3 AFTS = AFRS 3. SSS




Prove each of the following:

Given: S is the midpoint of QT. R
QR TU

Prove AQSR = ATSU
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Given: ZN = /L J

JK &~ MK
N
Prove: AJKN = AMKL
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Given: DE | FG
LE = £G

Prove: ADFG = AFDE
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DBE Il For, LE=G
W LEDFZ/6,FD
DOF=DF

4) ADFGEAFOE

D) Griven
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Given: 2D 2 £F
GE bisects £DEF

Prove: DG 2 ﬁ
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Given: AB ﬁ
LA £C
BD bisects £ABC

Prove: AD & CD






